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Classe de 6°

Exercice 1

Compléter sans calculatrice :

»1. 10000 x 43,2 = ... »7.
»2. 0,763 + 100 = ... »8.
»3. 100 x 0279 = ... »9.
»4. 0,0001 x 853 = ... »10.
»5. 0,001 x 5,13 = ... »11.
6. 0,1 x 985 = ...l »12.
Exercice 2

Compléter sans calculatrice :

1. 1000 x 343 = ... »7.
»2. 0,483 + 10000 = ...l »8.
»3. 10000 x 61 = ... »9.
4. 0,1 X = 0,534 »10.
»5. 0,01 x 749 = ... »11.
»6. 0,0001 x .............. = 0,000996 »12.
Exercice 3

Compléter sans calculatrice :

»1. 0,001 x 0,472 = ... »7.
P2, + 1000 = 0,000203 »8.
»3. 0,0001 x 564 = ... »9.
4. 6,91 = 10 = ... »10.
»5. 10000 x 60,1 = ... »11.
6. .. x 66,3 = 0,663 »12.
Exercice 4

Compléter sans calculatrice :

1. 286 + = 0,286 »7.
P2 x 21,7 = 217000 »8.
[ 7 x 93,7 = 937 »9.
»4. 1000 x 0,378 = ... »10.
[ 5 Y x 6,19 = 619 »11.
»6. 0,0001 X ...l = 0,00766 »12.

Année 2015/2016

39,6 10000 =  oriiiiia,
0,00 X 0266 = oiiiriiiiii
1000 X 0,83 = eiiiiiiiiiiiii
10 X 0,609 = o
76,5 = 1000 = i
0,260 = iiii = 0,0269
0,001 x 0,743 = iiiiiiiiiiiiiii..
10 X 047 = o
0,904 = 1000 = eiiiriiiiiiiiin.
6,77 = 10 =  oiiii
722 = 100 = e
100 X 483 = e
N
............... = 10000 = 0,000912
1000 X 6,95 = eiiiiiiiiiiiii
0,493 =+ 100 =  \iiiii
...................... x 523 = 52,3
100 X 0,779 = e,
................ = 1000 = 0,000593
80,7 10000 =  ooiii
0,001 X 147 = oiiiiiiiii
0,01 X e, = 0,00426
885 = 100 = e
0,1 X 1,64 = iiiiiiiii
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